
TMA4255 Applied Statistics
Exercise 5

Problem 1

A random sample of 64 bags of white cheddar popcorn weighed, on average,
5.23 ounces with a standard deviation of 0.24 ounce. Test the hypothesis
that µ = 5.5 ounces against the alternative hypothesis, µ < 5.5 ounces, at
the 0.05 level of significance.

Problem 2

How large a sample is required in Problem 1 if the power of the test is to
be 0.90 when the true mean is 5.20? Assume that σ = 0.24.

Problem 3

It is believed that at least 60% of the residents in a certain area favor an
annexation suit by a neighboring city. What conclusion would you draw
if only 110 in a sample of 200 voters favored the suit? Use a 0.05 level of
significance.

Problem 3

In an experiment to study the dependence of hypertension on smoking
habits, the following data were taken on 180 individuals:

Non-smokers Moderate smokers Heavy smokers

Hypertension 21 36 30

No Hypertension 48 26 19

Test the hypothesis that the presence or absence of hypertension is indepen-
dent of smoking habits. Use a 0.05 level of significance.

1


